a) Determine whether the following triangles are congruent.

b) If they are, name the triangle congruence (pay attention to proper
correspondence when naming the triangles) and then identify the Theorem or
Postulate (SSS, SAS, ASA, AAS, HL) that supports your conclusion.

¢) Be sure to show any additional congruence markings you used in your reasoning.
d) If the triangles cannot be proven congruent, state “not possible.” Then given the
reason 1t is not possible.
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Use the given information to mark the diagram appropriately. Name the triangle
congruence (pay attention to proper correspondence when naming the triangles)
and then identify the Theorem or Postulate (SSS, SAS, ASA, AAS, HL) that would
be used to prove the triangles congruent. If the triangles cannot be proven
congruent, state “not possible.”
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H. Geometry Section 4.4 — Using Congruent Triangles: CPCTC

Objective: I will be able to use triangle congruence and CPCTC to prove that two triangles are
congruent.

With SSS, SAS, ASA,a.gd’AAS you know how to use three parts of triangles to show that the
triangles are — . Once you have triangles congruent, you can make

conclusions about their other parts because by definition, corresponding parts of congruent
triangles are congruent. You can abbreviate this asé ‘2‘ f

Example 1: Umbrella Frames: In an umbrella frame, the stretchers are congruent, and they open
to angles of equal measure. "
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Example 2: Given £DEG = £DEF are right angles; £ZEDG = £EDF.

Prove EF = EG
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